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ol | mMy | maux SREES B Rl Wt
1 |BAIER/3[2012-12-04 [EHA] 7| XA Q3| 2 ZHES|H| X2 30,000{ 3 te
2 [HAIESFTH|2012-12-04 [BHA[ G M Q| 3| 74 2t ZHE S| X5 33,000f 4 te
3 [HAIEFTH] 2012-12-04 | A ZHM 2B AL 2 A E3|o| = ZHEs|d| X2 56,000 4 te
4 |HAIZFDH[2012-12-04 |[EHEZ M3} MFAHE () ot ZHs|H]| X 62,700 5 te
5 [HAIZ2R/3H|2012-12-04 |EHA 4 A DTG A XX @ e ZHESH| X[ = 60,000 4 te
6 |HMAIZFI[2012-12-04 |[F & ZIAL CHH| A E 39| = ZIEH3[H| X5 64,000 4 te
7 |[HAIE/T|2012-12-04 |HA| siord R S5 e Al EQ|7|A 2HE3|H| X5 48,000 3 7t=
8 [EHAIZ /T 2012-12-04 |HAIH & 7| XA d 5| ot ZHESH| X[ = 30,000 4 te
9 [EHAIZ2/IH|2012-12-04 [HIIX| 3 ZHCi & ot ZHESH]| X[ 5 58,000 3 te
10 |HHAIE/2H|2012-12-04 |4 EHEZ AL E0F 7Hes|d| x| 2 78,100 4 te
11 |HAIE/2H|2012-12-04 (A H 2| &t5 Als 2t3d ZHERS|H| X2 49,000| 3 te
12 |HAIE/2H|2012-12-04 [HAlo| 8 d{EHEAZ 3} ghgutol ofd ZHEtsd| X2 | 105,000 4 Ite
13 |HAIE/72H|2012-12-04 (A H 2| &5 AlS 2t3d ZHERS|H| X2 72,000/ 5 te
14 |HAIE/D|2012-12-04 [EHA|SKICH e AMEef A S ZHESH] X5 80,500 4 te
15 |HA|Z /I 2012-12-04 |HAISACH 22| Mef] ™M A ZHEts|# E[EtRlH] X|Z 20,400 4 7=
16 |HHAIE/I|2012-12-04 [ ote| S UAL 2t HAE3[o| = ZIESH| X5 98,230 4 te
17 |SAEF/2|2012-12-04 [PHQIEHA|ACH CHEXF HEHS ZHES[H| X5 88,000/ 5 Ite
18 |HAIE /| 2012-12-04 [HAA|E & {21 3| 7H=| & ZHEs|H| X Z 28,000f 2 ItE
19 |HAIER/I|2012-12-04 |2/ =Ql HIEA] AlF A Y S| 2t ZHESH| X 70,000 4 te
20 [BHAIZF/I}H|2012-12-04 |48 S Fu EHA|SRIH SZEAS ZHESH] X|2 | 105,000 4 e
21 |HHAIS /o 2012-12-04 | SX[&H 7|2 &= 2™ d s 2HesH] X = 52,000 4 te
22 |HAIER/T[2012-12-04 [2( =0l HHIEA| M3 it ZHESH| X[ 5 99,000/ 6 Jte
23 [HAIER/T[2012-12-04 [MEA EF7|EA = o e ZHES[H| X5 38,000 3 e
24 [HAIER/T[2012-12-04 |[AZHH 2T ALK 23 ZHES| = E|EtQlH| X5 10,500 4 7t=
25 |HAlER/T[2012-12-31 [12 SACts] ALEE FolH| X2 217,000 31 te
26 |HAIE2F2t|2012-12-31 |FAM 2o Z 5t 17 S 7| XIg(12¥€8) | 295,250 31 te
27 |HAIE2F2|2012-12-31 |FM 2o Z 5t 17 S 7| XI5(11¥E) | 250,000 31 t=
28 A2 F/I}|2012-12-31 |M[2413] AlQ|3| SHOIA DAl X2l ZHajH| 2 X| 2 21,000 3 e
29 |HHAIS /D 2012-12-31 |8t ?| R ZHAL CHH| HolZ2 22/ Zad|8 X5 | 129,000] 11 t=
30 [HHAIE2 /2| 2012-12-31 [8t'=?| X ZHAL CiH| o2 2 A @l ZHAl 7 olH| X|F 15,500 5 e
31 [HAIE2F/ 2| 2012-12-31 [8t= 9| SHZHAL OjH| Hol2 R A el S27H| X 6,000 5 e
32 [HHAIER/T[2012-12-31 [EHc?| IE ZAL ChHd| HotZ R21 2l ZHES|H| X5 19,500 3 e
33 |EHAE 71} | 2012-12-31 |H2425] A|2| 5| A AR ZEAL B =D A9l ZhEbs(H| X| 2 30,000 5 =
34 [HHAIEF/3[2012-12-31 [HAIME|AHII 8 S7HE D3| )25 ZHets|H| x| S 29,000 3 e
35 [HHAIER/T[2012-12-31 [HA Tt e HIMOHY| 2222 ZHESH| X5 46,000/ 5 e
36 |EHA|S T} | 2012-12-31 |MATt 2t v AbSrya AtstAl 2Rl ZHAITQlH| X| 2 50,500 10 =
37 [HAEF/T[2012-12-31 [FMYUE cldel HU & At S 7| XIg(128&) [ 150,000/ gzeel| Ft=
38 [HHAIER/T[2012-12-31 [dL SAHEZH AZEE {TZEA SETUHE XS 8,800/ 50 e
39 [HHAIER/T[2012-12-31 [dL SAHEZH AZEE {TZEA 2t 7 H| X F 48,600| 50 e
40 [HHAIER/T[2012-12-31 [ Sl ZHHEHA| Al AFHX 2] 2 ZHE8(d| X5 45,0000 4 e
41 [HAIER/2H[2012-12-31 [EHA I SZZE ate|del S Ed s ZHE3H| X = 81,000 4 7t=
42 |SHAIS /I 2012-12-31 |EHA[O| STEH EA] J|AtM 3| ahed ZHEs|H] X & 54,000/ 5 t=
43 [HHAlEF/3[2012-12-31 [HAlo| BT EHEA 7| XA Y 3| 72| = ZHES|H| X5 92,400/ 6 e
44 [BIAE2F2}[2012-12-31 [ QU SSEA| 2 2t ZIets] x| 2 112,000 7 7t=
45 [HHAIER/TH[2012-12-31 |[@&Tea M ue(d =7 ot ZHESH| X[ = 90,000, 6 t=
46 [HHAIEF/3H[2012-12-31 [H2423] Alo|3| Y AL ZEAL 2 ZHebs|d| X[ [ 100,000] 6 e
47 [HAIE2F2|2012-12-31 [ QU SSEA| 2 X 2t&d ZHEHs|H| X2 130,000 5 e
48 |[HAIERTH] 2012-12-31 | SSHEHA| 278 3 ZHES|F E[EfRlH| X 12,300] 5 o=
49 [HHAIER/TH[2012-12-31 [EHAISZZE ate|del SEEd s ZHE3H| X5 104,900 4 7t=
50 [EHA|2F/DH|2012-12-31 |EHE=EZ &M 51 ot ZHEHE(H| X2 72,0001 6 e
51 |[EHAIEFTH]| 2012-12-31 [HAIMH|AEII8 B2 13| 2152 EIEQH| X|F 10,200 3 =
52 [HHA|ER/3[2012-12-31 [/ F QI ZHEEA| 2 & ZHES|H| X & 30,000/ 3 7=
53 [HHAIER/EH[2012-12-31 [/ QI HYEA| 2 i ZHES|F E[ERH| X5 8,000 3 7t=
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54 |SHAIZ 1| 20121231 [DTGE Sx= Aol phal Zhetslo] A2 112,200 5 | 7=
55 S A2 R 2t | 2012-12-01 |SHE = @M=l el 2igsl Al % Bl A2 | 39,0000 6 | 7l
56 |EHAIE/IH|2012-12-31 20123 FZ0j| &tk AlQ|3] Alof ZHES|H| X5 54,500 3 7t=
57 |HAIZ 2| 2012-12-31 (2013 & SAIAI] U2 ol Zhetsld| A= 301.200] 14 | 7=
58 |E{AI2 53| 0012-12-31 [Ae SAAF oM JIAM S gel Zietslo] Az | 112,500 6 | 9t
59 [SHAIZ 2| 20121231 [HAIE0F WEZBHTh= ol Zhersle] A= 98,000] 6 | 7=
60 [ AIZ 72t | 2012-12-31 |O| A2 61 3] ZAX} Zretaln] A|2 75,0000 5 | 7=
61 |HAIZE 2| 2012-12-31 [0 SASCH J|AMEal &6l Zhersld] A2 | 37,000 3 | 7t=
62 [HAIZ | 20121231 [ol 2ol BEA 2ol of@ zhetslu] A2 | 129,000 5 | 3t=
63 A2 R 2| 2012-12-01 [SAPIF2E ACBE Aa2=ae sl A2 | 163,000 9 | 7=
64 S AIZ R 2| 2012-12-01 |12 A7 2 JIAEHE N2 F 28 X2 | 14,600 3 | 7=
65 B AIZ R 2t | 2012-12-31 [AAMEI~ 8718 HEE 08 A2 B8 2l 2 | 52,0000 3 | 7t




